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POINTS TO PONDER

1. x99 11 asks if there is 'wiT7 1. Since |'wiT involves 2 people namely a man and a lady,
are we assuming that she understands his intentions?

2. Further to the above, what would be the |1 by nann 1x 1on? Do we assume that there is no T
for a 7on, or is 'wiT fundamentally different?

3. The 1 79 1w "wyn mwn writes that there is no need to say anything in order to be wTpn a
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17 Since we see that even if he doesn’t say anything it is a valid |'wiTp because it is clear
that he wants to marry her how can there be a question with regards to nim?

4. When x99 11 asks about nx97 T' he says that nxo is similar to nnanp. Why is it necessary to
compare nx9 to ninany but it was not necessary when discussing |'wiT77 T earlier?
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If you have any comments or suggestions, please email Rabbi Grunhaus at Ygrunhaus@gmail.com
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